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Commerce
Paper 11

TSy
oateRTt 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

oAl ;A1 YEAUehd THRU IR (100) SgTaRt yee fSoid ofed. Uik TRl g (2)

O Sed. WA YA Hred

Which of the following is not an

aspect of International Business ?

(A) Exporting

(B) Joint Ventures

(C) Licensing

(D) Confined to the boundaries of
one country

A Multinational Corporation is

defined as :

(A) Having multiethnic workforce

(B) Having suppliers in more than
one company

(C) Carrying out production or
operation in more than one
country

(D) Having more than 100
volunteers

Anti-dumping and countervailing

duties are imposed under :

(A) Regional Trade Agreements

(B) Trade Related Investment
Measures

(C) Trade Related Investment
Property Rights

(D) Customs Tariff Act, 1975

CITeTeTdeh] SHITIAl B STTAR A
O A shefl STd A&l ?
(A) frafa

(B) ¥g= 3UHH

(C) 9

(D) THI <IM=A HHAS H4ifeq
g HUAreAT RYTS= e td
Tefeden! Hvd faue & o ?

(A) <1 HYAHE gAY HEhdd Th
w1 H

(B) ThTUeT 3Tfes ST ST Sh a1 AT
qEdT

(C) TahTdeT 31fereh 2IMA Sculed
HEGEET el S

(D) 100 T& S WIdeeh 379

Tefiaras fodiet (dumping) o faeerd
Yok WTATadeh] I FehRISTad
e Sd ?

(A) YR =R
(B) AR Hafyd Tqaveh U™
(C) IR HafHd Tdaveh Huw ATHHR

(D) €M Yook wEQT 1975
EEEI
[=]&:
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4.

The theory of Absolute advantage
was propounded by ..................

(A) David Ricardo
(B) Eli Heckscher
(C) Berti Ohlin
(D) Adam Smith

Which of the following country is not
a part of NAFTA ?

(A) United Kingdom

(B) Mexico

(C) Canada

(D) United States of America

Which of the following are the two
main Fiscal barriers ?

(A) Blocked Accounts and
Exchange Rates

(B) Exchanged control and
Exchange Intervention

(C) Anti-dumping duties and
countervailing duties

(D) Monetary and Fiscal policy

The Government starts buying the
domestic currency to maintain its
exchange value. This process is
called as .......ccce.......

(A) Balancing
(B) Maintaining
(C) Pegging up
(D) Pegging down

JUN - 50225/I1—A

WATCTUhT hIvTT Q91 e STHRR
MR IR (NAFTA) =1 ¥ el ?

(A) ﬁ'—nﬂ?‘s’ IERIES
(B) Halah!
(C) kel

(D) FEeE Leg ATk THRH
WATCAUhT U S ek TS 3T ?

(A) 't enfor fafaua <X
et/ sTaRiferd Lo

(B) fafamer frasor enfor fafqaana
T

(C) Tefturad amfor gfderrd Yoo
(D) Hifgew i offéer &R

ot < feerar Savameme! TR <eit
T TG FHIIE GEad . I Hishael
3 WA

(A) Hger

(B) <@

(C) Tfy=a fafma ) amefau

(D) fafy=a fafma e =




[=] 25 =]

®

10.

11.

Which of the following is not a
component of balance of payment ?

(A) Current Account
(B) Capital Account
(C) Savings Account
(D) Unilateral Payment Account

The risk arising from uncertain
economic and social performance
and discriminating economic policies
of a country is termed as :

(A) Political Risk
(B) Cultural Risk
(C) Country Specific Risk
(D) Market Risk

The economic system in which
productive assets are owned and
operated by the central Governing
body or Administrative authority is :

(A) Command economy
(B) Mixed economy
(C) Liberal economy
(D) Open economy

Revenue is generally recognised
being earned at the point of time
when ........ as per matching concepts.

(A) Cash is received

(B) Production is completed
(C) Sale is affected

(D) Goods are delivered

10.

11.
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TR ShIVTT SNEFSISTT Seeh el ?
(A) =@ @
(B) “isad @
(C) == @
(D) SwFuel 3Me @id (Unilateral)

TR o3Mdial Affy=aa qrfes

9 Ao HEAR 9 Seweyl i
MRS S e Igvad  faar
a:l_g. w ..............................

(A) TShIT ey

(B) Gihfds Sy

(C) 2 fomw wwEm

(D) 9NRUS Sy

=1 3R TEd Te ScdIgeh §aadl, Sen
I WTfHea o T held TR AT
HeIT YR TR Fiaehe 3/
faen 18 WU
(A) STRYMYsd STefeawen
(B) fusr eqefcgercen

(C) /R AL

(D) o stefeAaEen

é’@ml?ﬁﬁﬂaﬂﬁ (Matching concept )
TR FHFIIY Teh! fAfie e 3=
T T 3. 3T sheal FHSTA WA 2

(A) I@ WRA U et
(B) caed o
(C) famtax aRom e
(D) W= YSH A
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12.

13.

14.

X and Y shared profit in the ratio
of 7 : 3. Z was admitted as a partner.
X surrendered 1/7 of his share and
Y 1/3 of his share in favour of Z. The
new ratio will be ................

(A) 3:1:1
B)6:1:6
(C) 14:6:9
DM 1:1:4

If equity shares have been bought
back out of free reserves, amount
equal to the face value of equity

shares bought back should be
transferred to ...............

(A) Development Rebate Reserve
(B) General Reserve

(C) Sinking Fund

(D) Capital Redemption Reserve

The subsidiary company can carry
forward its losses for Income Tax
PUTPOSES ..ovveeeeneennennees

(A) As it possesses its own separate
entity

(B) As it prepare its own individual
accounts

(C) As it can make necessary
arrangement

(D) As their shareholders are not
properly protected

12.

13.

14.
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X ofifor Y /= AW 7 ;3 A WHUI
A1 B A Z AIERE o Hrel.
X 3 @& 1/7 9 &R et Y A
1/3 ST & e Z o fget. a1
e U HE RIS ?

(A) 3:1:1
B)6:1:6
(C) 14:6:9
D) 1:1:4

o TSy SR FHAFTET JTeRa!
AT T GTEIRET HITATA ST TN
HHYN=A SUHT JeAmgaer et &Ll

LAl G{didr{d °h{|°|ﬂ| Al ed.
(A) fom™ wEX TSI

(B) WM TSI

(C) we=rlt TATSTest

(D) wiead Wawe R
RIS e AT el &
TEd  Fe ARG HE IR

(A) RO TER—TH HUT WA ik
RO

(B) IO WIS Syl Wd = s
@A IR Hd

(C) HTIUT HIERIH HUAT TIvIH
T A

(D) HRU RS HUAE  TERE
YRR G THda




[=] 25 =]

[=]
15.

16.

17.

You are given the following
information :

Selling price per unit : Rs. 40
Variable cost per unit : Rs. 30
Fixed cost Rs. 1,80,000

What will be the new Break even
sales in rupees if sales price is
reduced by 10% ?

(A) Rs. 10,80,000

(B) Rs. 7,20,000

(C) Rs. 9,60,000

(D) Rs. 10,00,000

The projected cash operating
expenditure of a firm for the next
year is Rs. 1,82,000. It has quick
current assets amounting to
Rs. 40,000. What will be the
defensive internal ratio ?

(A) 5 days

(B) 500 days
(C) 160 days
(D) 80 days

According to “Human
Resource Accounting” is the process
of identifying and measuring data
of human resource and
communication the information to
interested parties”.

(A) Alfred Marshall

(B) The American Accounting
Society

(C) Brommet
(D) Lew and Schwartz

15.

16.

17.
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TR geiel Hifedl qUa el 3R
fast feua wdl = : % 40

I RS Gt AT : % 30

feer wRe™ % 1,80,000

SR faspt fead 10% 3 St FAel @ o4
TAfa=RA fog Tmame ® @ W ?
(A) ®. 10,80,000
B) ®. 7,20,000
(C) % 9,60,000
D) %. 10,00,000

T Hoeal JEid auiedl et I@
TRETed =99 1,82,000 . 2T, = T
TIRA B 40,000 3R TR AT FXETICHS
IR A HE T ?

(A) 5 fgam

(B) 500 fgag

(C) 160 fag

(D) 80 fgag

“OEl FEYE dEihd § AT H9eH
9 T AT I A0 T
T Hifgd JHR0 k0 3’ & faum
IO HEA M ?

(A) Tche HRfe

(B) T A AR AEREd
(C) IHHe

(D) T i Seemed




[=] 25 =]

=%
18.

19.

20.

21.

AS-26 deals with ................
(A) Earning per share

(B) Employee benefits

(C) Borrowing cost

(D) Intangible Assets

Which report will be submitted by an
auditor, if he is dissatisfied regarding
the facts and informations ?

(A) Clean report

(B) Qualified report
(C) Management report
(D) Cost report

Which aspect of business is affected
the most by implementing Just-in-
Time (JIT) ?

(A) Sales

(B) Manpower Requirement
(C) Inventory

(D) Total maintenance

Business Economics is the extension

o) SRUPURRR .
(A) Commerce
(B) Management
(C) Arts

(D) Traditional Economics

18.

19.

20.

21.
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AS-26 HIUTAT THRRT Tl o 2
(A) Tt WRT TRATEn

(B) SHARI @Y

(C) wheit=n afie™

(D) 37]¥T HU!

qem enfor wifedren Heuld SR e
ATIYTT THA X 1 hIOT STheyu

AT T FA 2

(A) @=5 gard

(B) ¥ 3Teeed

(C) FEEIhIT STgaTA

(D) wRema 3TeaTe

IR IVl Heh THITGAA
SHTESTAHoS Falld ST YHIfad 2l ?
(A) fosht

(B) AMEIH Wt

(C) THY/HATATIS

(D) THY <THTA

AT 1IN § WeeTush! ShIore
e faer e ?

(A) =frsg

(B) Fa&Am@H

(C) chedl

(D) WA AL
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22. Which of the following statement is
correct ?

23.

(A)

(B)

©

(D)

Firms exist to use scarce
resources of the society
efficiently; and thus help the
economy to cope with the basic
problem of scarcity

Firms exist to use scarce
resources of the society and help
to self sufficient

Firms exist to use scarce
resources of the society for self
employment

Firms exist to use scarce
resources of the society for
business growth

Match the following :

(a)
®)
(c)
(d)

List I
Demand Schedule
Demand Curve
Individual Demand
Market Demand

List II

(z) It is the graphic representation
of Demand
(z1) It is in tabular form of Demand
(zi1) Size of total market
(v) Goods demanded by a consumer
Codes :
(@ B © @@
A @G @ Gv) G)
(B) @ (@) @) (o)
(C) i) @ @  Go)
D) @ G @ @)
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22. YEAUh! HIA faum W o ?
(A) TSI GHIos FHTERT Shiigragoy
ST Hed 9 AGR ASHTEI
AR qAYd ST |/
FOEIS Haad GeeT Al

AT

(B) 9HISTAIA

gHTes HHIEATE ShEHa

ST HEA WAYUAHS! A
HIOIThH T HHT TeeAT ST

ST

(®)

TS GHIes TETEATT Sh1el el

YA FEA TFIUSR i

FOTHIS! HaETH {*{bld"ll AT

(D)

3THard
TSI GHIes HETEHTE SR eyl

YT HEA

SIIgTATH

die

FHITITETST TG IR G

AR AT
23. IY Sedl oM@l
g 1
(@) ¥FTON IS
(b) HFTOR Tk
(¢) SAfash WO
(d) SSRUS |ET
gt 11
(i) WNTU SERIgR TASeRul
(ii) AWV RO e
(1) THY SSRUSHT 3R

(fv) TTGHIGR hetel! HETOR

Higar

@ b © @
A) G @ @Gv) G
B) @ (@) @G (o)
(C) @) @ @  (@v)
D) G) G @ G
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24.

25.

26.

Demand curve slopes downward
because ................
(A) Diminishing Marginal Utility
(B) Increasing Marginal Utility
(C) Total Utility

(D) Increasing Average Utility

Total production will be maximum

when ................

(A) Marginal production is
maximum

(B) Average production is
maximum

(C) Marginal production is zero

(D) Average production is
maximum

Total cost of a Business :

(A) Total Cost = Total Fixed Cost
+ Total Variable Cost

(B) Total Cost = Total Fixed Cost
+ Total Variable Cost

(C) Total Cost = Total Variable
Cost x Total Fixed Cost

(D) Total Cost = Total Fixed
Cost — Total Variable Cost

24.

25.

26.

JUN - 50225/T1—A
IO SehTal AR Bl STETH fogm o9
= I ERU

(A) STFerE i ST
(B) dTedt Hmid Suifiman
(C) TR ST

(D) dedt qUE ST

THY IARA § el HewH ITHA ?

(A) Segl HiHd 3UeT § HecdH STHd

(B) Siegl IUE 3cEd § Uy 3T9d

(C) Sl HHid SR § I S
(D) el W S fram sta

Il TRl T @

(A) THY =T = THY R =T + TH

dqddl a4

(B) THUI o9 = THU [ =7 + THU

el

(C) THI =T = THIT =cd T x THU

R =9

TR o9 = THY R =237 — Ty
R

(D)

10
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27.

28.

Marginal cost can also be written as :

A Total Cost

(A) Marginal Cost = Quantity

(B) Marginal cost = A Total Cost x
A Quantity
A Quantity
A Fixed Cost
(D) Marginal Cost = A Quantity +
A Average Cost
Match the following :

List I

(C) Marginal Cost =

(@)
)
(c)
d)

Monopoly

Oligopoly

Perfect competition

Monopolistic competition
List II

@

(i)

(zit) Many sellers with different

products

Many buyers, few sellers

Single seller, many buyers

(fv) Many sellers with identical

product
Codes :

(@ G © (@
A @ @ @) @)
B) @ @ @) Go)
C) @ Gv) G @
D) Gv) @) @ @

27.

28.
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T A WELIh0 TeAeTdeh! hioTe
TS el S ?
(A) §Hq =& = THRY A A +
IAEAA A
(B) §Hd =& = THU AW A X
IAEAA A
(C) HHd &4 = SARAMA A + THO
FEA A
(D) HiHd o9 = SARAAA A + U
ZEA A
Sl e
et 1
(@) URIEHR
(b) STUTEHR
(c) ol T
(d) THITUmRIgTR
gt 10
() % UeSk, HE fasd

(i) Uwd fasdr, 3™ URH
(i) 3T foshd, a%q afrseares
(iv) 3% fashd, %] THEIATE
wfgar :

(@ B © @
A @ @O G @)
B) & @ G Q)
©) @) Gv) G @
D) Gv)y @) G @

11
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29.

30.

31.

32.

The long-run equilibrium outcomes
in monopolistic competition and
perfect competition are similar,
because in both market structures :
(A) The efficient output level will be
produced in the long run

(B) Firms will be producing at
minimum average cost

(C) Firms will only earn a normal
profit

(D) Firms realise all economies of
scale

It has been suggested that non-
profit enterprises should pursue
marginal cost price policy so as to......
(A) Maximum profit

(B) Achieve economic efficiency
(C) Minimum losses

(D) Normal profit

Which of the following is the costliest
long term source of finance ?

(A) Preference share capital

(B) Retained earnings

(C) Equity share capital

(D) Debentures

Market value of a firm is the result
of :

(A) Dividend decision

(B) Working capital decision

(C) Capital Budgeting decision
(D) Trade off between risk and

return

29.

30.

31.

32.
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SrefepTell TqeHId UehTfeehRge afa

afor qui Taefd Scuee FHA ST ShIl

TG TR TR

(A) SRR FrEIH IE Uk
IURA Hdel ST

(B) Tl FHID HH TIEA ScAeA
AR 3G BT

(C) TEl hdes W H fHefaam

(D) HeT SRA T §a e
e LT

FHT TS HLTATAT B T 7 Hered!

TTeRE el Sd R0 Hes

(A) HETH oMY W B

(B) i wrEiemdr W whar A

(C) wHId ®H g 2

(D) WM oY Bl

T eI Sreehle™ foaqiaer Fatd
FAfeeh qiteqa STEUR | (HIeaH)
10T ?

(A) QIR 9F Aread

(B) stfsia &y

(C) FUYNT Wigad (HIERI YFT Higae)
(D) &SR (FHOT9)

Thidd 3.

(A) wnaETases o

(B) 9@ wedatauas i

(C) vieaett STeSushfauaes fufa
(D) Sy ST qXAran AT=ATdie et

forg

12
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33.

34.

35.

Which of the following is not the
theory of capital structure ?

(A) Gordon’s theory

(B) Miller-Modigliani theory

(C) Net Income theory

(D) Traditional theory

Match the following columns :
Group-A

(a)

®)

(c)

(d)

Net present value

Payback period

Accounting rate of return

Profitability index
Group-B

Greater the better

More than one

Lesser the better

Should be positive

(1)
(2)
3)
(4)
Codes :
(@)
(A) 4)
(B) (2)
e o @ Q) @
D @ & @ @
Which of the following is not factor
that affects the estimation of

()
3)
(3)

(c)
(1)
(1)

(d)
(2)
(4)

working capital ?

(A) Nature of business

(B) Nature of raw material

(C) Tax structure of the Company
(D) Process, Technology used

33.

34.

35.
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TTATAd T wiorar fagia wigaw
TWEEEHd ATSvad STt el 2
(A) T fagm
(B) foeR-wRiRaeT faga
(C) Treas s fagia
(D) W fagia
el S[esa
M-
e adam o
AT hIATa
T TAEl X
NIEHPET I IRECNIED
M-
srferehay @ T
TR e
(3) YAdH d HSSdH
(4) FHRHD
Hgar
(@)
(A) 4)
(B) (2)
oo @ 68 @

O @ 3 @ @
WAk hIOAl T2sh TATTSTATA

ANTUAE. GYE shid AR ?

(@)
®)
(c)
(d)

(D
(2)

)
3)
(3)

(©)
(1)
(1)

(d)
2)
(4)

(A) I W&Y

(B) &=l HIAE W&Y

(C) YAt HIfaoes A
(D) =TT ST SITOTRT TR o Ufshan

13
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36.

37.

38.

Which of the following risk will rise

due to fluctuation in exchange rate

when the normal trading transactions

take place in the normal course of

international trade ?

(A) Transactional risk

(B) Transnational risk

(C) Economic risk

(D) Payment risk

Which of the following is not the

advantage of Capital Account

Convertibility ?

(A) To integrate national economy
with global economy

(B) To enhance growth rate of the

economy through pumping of

foreign funds

(C) Ease in transfer of capital from

our country to another

(D) Modify the direct tax system of

country

Which of the following is not

involved in hedging ?

(A)

(B)

©

Risk sharing

Transfer pricing

Maintaining a foreign currency
bank account

(D) Maintaining reserve of foreign

currency

36.

37.

38.

JUN - 50225/I1—A

frafra wEy=n sEEtas fEams
B 9T AU SFaeEevid
ot TUal Fe3aRIHe I SIed
IWed ?

(A) HTRRIHS SIEH

(B) SO S|

(C) =Mf¥er e\

(D) ¥NeA Geufidial Sy

N8| X [ e ) R [ e R R B MG R RS R

WIATAYR] HIOAT Y H9ed el ?

(A) ST Afeaedvft U™
A= Thwqdl T

(B) qym=En rfys  fawmmamEn X
refaquarst faesh wieas o et
Ia d@ Lo

(C) JIMIedT JIMGA TAY IIMHS
HETAT=A SRR Fishal gAY
ETu

(D) <M= JcA&l hicH®dd el TS

STOTY

WefTettieh! TY (Tadt) HERRRETT e
R TSHET THEY B AR ?

(A) STEHT=T SR el

(B) &&= ferma
(C) foceh gu1 v sifuspoma A
(D) foram fooslt gz fAeht Wit o

14
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39.

40.

Which of the following is not
function of exchange market
participant ?

(A) The market acts as a central
focus whereby prices are set for
various currencies

(B) The market allows traders to
identify risk free opportunities

(C) It provides an investment
function for banker and
Corporate Traders

(D) It minimises hedge or loss due
to adverse exchange rates

Which of the following international

organisation is not working for

global financial stability ?

(A) Financial Stability Forum (FSF)

(B) Bank for International

Settlement
(C) International Financial
Stability Fund
(D) Financial Action Task force on

Money laundering

39.

40.

JUN - 50225/11—A
fafTra SeRYST TRy 2o Seehig

ETATcTUeh! ShIUd i shed SIId ATel 2

(A) STSIYS & hsfeig AT A fafery facett
g™ foeda fuRo &a s
(B) SiRTSd Hewrfl groman fafae

~

fofad Helt Sqetsy

ST SIREH

HEA Q0

(C) arfeeptsr emfor U= SATIT=AT

AUk 1A HI0ATH! Hell U

FHEA Q0
(D) foafRa fafT9= TUHes Bt Ferfed
el Sreen gu (gRdl) el e
FHOAET Hefl 3Ts e QU0
STk SMIfeeR TtTel ST hd el 2

(A) HEARETE Efdfaed ®RA
(B) s HR STHIMA VeaHe
(C) SeHIMA hIEAIIeTe Eidfae e

(D) FEAITISTA TR 2Rh hi 374

SPpS

15
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41. Which of the following is a formula | 41. Treiicies Iqed® foue = A HOW
of quartile deviation ? e ?
(A) QD. = % (A) QD. = Ql;QQ
(B) QD. = Q, —Q (B) Q.D. = Q-
2 2
C 2 2
D = =
) Q Q,-Q, (C) Q.D. Q,-Q,
Q1 B Q3 Q - Q
(D) Q.D. = 9 (D) QD. = %
42. The Central Limit theore.m ASSUTES | 4o qemeredl Trerier SRETHEY T WEA R
that the mean sample distribution T e .
1S tervrireenns
(A) Always normal (&) &
(B) Always normal for large sample (B) I T STRRIHICT e8I /Hr
size A
(C) More than 1000 as N aptly (C) 1000 TH=ATUE S TH-ATETS!
normal only HH 3T
(D) Increase the sample size (D) | Ul WgEedeR AT
approaching normal ARG 9@ '
43. Karl Pearson’s coefficient of | 43. Wciieldeh! SIvl et fUSTTET=1 ok
Skewness is ............. faspdt eme ?
Mode
_ Mod:
(4) Mean = S.D. (A) Mean = o
S.D.
Mode
= Mod
(B) Mean Correlation coefficient (B) Mean = - o -
Correlation coefficient
©) M B Mode Mod
can = Median (C) Mean = O.e
Median
) S.D. D
Mode =
D) Mode
16 Okd0
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44.

45.

46.

47.

The cause and effect is known by in
study of ......cccvvvveiiiennns

(A) Regression

(B) Correlation

(C) Probability

(D) Coefficient of variation

Which is a systematic method of

investigation, evaluation,

experimentation, interpretation and
theorizing ?

(A) Survey

(B) Experiment

(C) Scientific method

(D) Meta Analysis

Assuming that a box contains in all
ten balls of which six are green and
four are red, what is the probability
of drawing a red ball ?

(A) 0.1

(B) 0.5

(C) 04

(D) 1.0

A sampling in which every member
of the population has a calculable
and non-zero probability of being
included in the sample is known as :
(A) Probability sampling

(B) Non-probability sampling

(C) Quota sampling

(D) Multistage sampling

44.

45.

46.

47.

JUN - 50225/II—A

I FIOM T R 2
(A) gfq@EA

(B) HeHaY

(C) |y

(D) fo=eEm=n TR

GAATEATT T 0], FEIHTI 0,
TN SHO 3T e e e fagia
Yol a1 9 o1&l hived TN ggdid
TIfs ga ?

(A) TIegur

(B) I

(C) aefer gt

(D) #Her fogerom

ST, ThT GHEN 10 < 3Ted. !
6 fetd o1t 4 ot 3TRd. S Theel
Toh 9 A TR Toh Al oIS hieuara
YAl w1 WA ?

(A) 0.1

(B) 0.5

(C) 0.4

D) 1.0

THAIGAI AREEIA Joish T 8
ASten S ot @t fae et
FTead YT S STd. STRT A
frere ggdien 3@ =

(A) F9eHal THAES

(B) STHWEEAl THAAE

(C) wHifya few FIfere

(D) =g THAIE
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48. Mann-Whitney ‘U’ test is used for
testing :
(A) Equality of two means
(B) Equality of more than two
means
(C) Equality of three means
(D) Equality of two sets of ranking
49. The classification of Analysis
between the two samples and within

the samples is known by the study

(A) X*-test
(B) t-test
(C) Z-test
(D) F-test
50. Which one is the first section of the
research paper ?
(A) Abstract
(B) Introduction
(C) Methodology
(D) Analysis
51. Which of the following is considered

48.

49.

50.

51.

JUN - 50225/I1—A
H-gee! ‘g’ AT IV SHROTHIS!
SUIRTG SO S ?

(A) TH HEAHE FHMA

(B) SHU&T SIRQ WAL A

(C) 9 HeAmEd T

(D) 3 FEmE SO J0

S T S0 S THAHE Shel
STTOTR SAThT0T SRIVTCT TGeiea STEATEER
Seffored Sfd ?

(A) X*-test

(B) t-test

(C) Z-test

(D) F-test

HIME T FeYed AT vl STEal 2

(A) IR

(B) 9@t
(C) HYNeH Ygdt
(D) fogersmon

STHHYMEHNS HHNRIG IR TS

as a corrective method for WWQWW@W
inadequate performance ? S ?
(A) Coaching (A) 1A
(B) Mentoring (B) HAFEEH
(C) Job Rotation (C) wi Tfed
(D) dJob Instruction Technique (D) < Rl ES
18 EE
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52.

53.

54.

55.

What is the uniqueness of 360

degree Feedback method ?

(A) Senior Managers can evaluate
the employee

(B) Team members can evaluate

the employee

(C) Supervisor can evaluate the

employee

(D) All those who interact with an
employee in any capacity can
evaluate the employee

Who stated that need should be

categorized and that there is basic

distinction between lower order

needs and higher order needs ?

(A) Porter and Lowler

(B) Maslow

(C) Alderfer

(D) Victor Vroom

The Act of increasing the knowledge

and skills of the employees for doing

a particular job is called ............ .

(A) Motivation

(B) Information

(C) Leadership

(D) Training

An organised, factual statement of

the duties and responsibilities of

specific job is ................ .

(A) Job Specification

(B) Job Analysis

(C) Job Description

(D) Job Rotation

52.

53.

54.

55.

JUN - 50225/II—A

360° TS UGdrd ThHAl G AA&T0

HIOA ?

(A) U3 HTEATIH FHHATATS HEIHIA
FHE IR

(B) TN T8RNl HHAFA Tedad
HE YR

(C) THA&H HHAANE JoIHATA HE
RETIG|

(D) FITER KREHSA FHHAARN GHAG
HIYURT SR HHATAT JeIHIH
®E IRl

USIER Hicauicau e | CreE i Eci|
I o K3 T AH JeAYd Hleh
FHIV MATTF 3. ¢ a8 Teferdent
IV ®Hed R ?

(A) 9T amfor efetert

(B) Hre=dl

(C) IAesTH

(D) fewt =\

FHAFA TF 9 BRI AHE FET
FHeA fafiTe el HIATAT T GUR
LT gl 3E FEUTTA-
(A) SR

(B) wfEdiae™

(C) e

(D) wfereor

fafime s HoaEEl gatad S

FATfUsea w9 SIfaEre Syl
foeror =St

(A) w1 fagreieRto
(B) =rd fagersmo
(C) & faarm
(D) & e

19
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56.

57.

58.

59.

Which of the following steps in

Planning process involves the

execution of a Plan ?

(A) Implementation

(B) Selection

(C) Evaluation

(D) Review

Which one of the following best

describes a sequence of steps formed

to achieve a particular objectives ?

(A) Programs

(B) Policies

(C) Procedures

(D) Rules

Which of the following refers to a

series of activities undertaken by the

HR Managers for filling the present

and future vacancies of the

organisation ?

(A) Integration

(B) Compensation

(C) Development

(D) Procurement

Which of the following is not a major

characteristics of Human Resource

Planning ?

(A) Effective Utilization of Human
Resources

(B) Focus on short term and long

term strategies of Human

Resources

(C) Emphasis on quantitative and

qualitative task and dimension

of Human Resources

(D) Focuses on promotional plan

56.

57.

58.

59.

JUN - 50225/I1—A

FHRATTIAS HAET T HIUTh 0T
== THEY Bl ?

STHCTSISETT ST T 2 A A
ferero WreiieTieh] Shivre TrigR hel ST 2
(A) Hriwd

(B) &Rl

(C) Hrfugdr

(D) frdmEet

TR e o 9TEl Fleddial e
ST TXATEE A6 SHIeH-
WW@WWW&—
qall:la Wl[ATAHeh hl[U[cdl IYshHIHI
FHEY Bl ?

(A) TehIcHdT

(B) afayei
(OREE

(D) wHAR HURA H{O AL Y
e

e ININEEARC IR IR C R S ICERE RIS EIE]
eHh AR ?
(A) HHE GHEATET Y99 YN HI0)

(B) HMd TIEATAT STeUehlel 30T
TelhTelT SROMeR. YehT9T 2Rl

(C) 9a FHEAT=AT T[UITcHE SO0
IRATIMH h1ed ST STRRAMTE
S <0

(D) g&I ASHER YhET TR
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60.

61.

62.

Which of the following is not a major
feature of Collective Bargaining ?
(A) Joint Process

(B) Interactive mode

(C) Continuous Process

(D) Unilateral

Which of the following statements

are true in case of Indian Financial

markets ?

(A) Indian capital market is
developed but Indian money
market is underdeveloped

(B) Indian money market is

developed but Indian capital

market is underdeveloped

(C) Indian capital market as well as

Indian money market are

developed

(D) Indian capital market and

Indian money market are

underdeveloped

Which of the following are the term

finance institutions ?

(z) Industrial Development Bank
of India

(z1) Industrial Investment Bank of
India

(i) Unit Trust of India

(tv) Export Import Bank of India

(v) Small Industries Development

Bank of India

(1), (1) and (iv)

(@), (Gv) and (v)

(@), (i) and (v)

(@), (Gir) and (iv)

(A)
(B)
©
D)

60.

61.

62.

JUN - 50225/II—A

S o

T TeTieh! IV THfedh SIRaTsi™ Seeh
SRS A 2

(A) HgF ke ’
(B) TWER gl HIeay 3196 TEIeR
IEX qregyq

(C) Had Yfewman
(D) Thdhi @WEY
YA fod e devld ereftal

faument ®Iv fagm ¥ oM ?

(A) 9RATAS Hiedd =R faefad o,
U HSESIR AIE Sifaefad o1

(B) YRGS Ha1 ook foshfaa o1, 907
Jiggd ok A o

(C) YRAdel H{31 AR 3T aiead

~

IS Sal faehfad sTmed

(D) YRAdia {31 dNR ST wiead

SR Sl Afaeshfad oTe
fa W= (Term Finance Institute)
e ?
() ISEIA SHAYHS Ak AH gfea
(i) ISHIFA T d% Fh Sfeam
(iii) gFe TR A e
(iv) TFOR TR A% AE sfea
(v) A S SwaTHe d A1h
gfean
(A) (@), (@) 30 (v)
B) ), (iv) A (v)
(C) @), (i) = (v)
D) ), (iii) S (iv)
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63.

64.

65.

The use of instruments within the

control of the Central bank to

influence the level of the aggregate

demand for goods and services by

regulation of the money supply and

credit is known as ..........

(A) Monetary policy

(B) Economic policy

(C) Financial policy

(D) Open market operations

Which among the following is an

advantage of informal financial

system ?

(A) Wide range of interest rates

(B) Higher rates of interest rates

(C) Unregulated

(D) Minimum default risk

Which of the following statements

is not true ?

(A) Equity share capital represents
ownership capital

(B) Equity shareholders have

residual claim on income, assets

and have limited liability

(C) Equity share capital is a high

risk-high reward source of

finance

(D) shares

Equity represent

creditorship securities

63.

64.

65.

JUN - 50225/I1—A

hara AfeRTongR g e eran
A FEA Hehel a9 Garet AWTOR
o hITATEIS!, T8 {51 9 Tt gRaal
o st < SreAE 9 el
Tfn?h F\’Il'i_'ﬂ 3.{@ w .............

(A) Hifss RO

(B) oo &R

(C) TUSThISE &R0l

(D) T TNRKA HE

=T faia gomei=a ewiaed
ETATCTYh] ShIOTeT AT A Bl ?

(A) foga daedie’ia = &
(B) 3if¥er =l <X
(C) frosom=n eT9E
(D) WRAhEr= FAaH SEH

@eleTeh! ShI0d fIaM 19 oTe ?

FHYN Wiedd § WHeesish Jiedd

e

HAYN ERehET ¥d QFehi< TNEH
AR JaAd HO & Sca=Tra ol
e AR STEd

(A)

(B)

FHYN Wigdd § SIR] SR H o 1<l

Y IR o Raea™ WiEA e

HHAN WISae & Qs Sfsd=
yfdffee sed

(©)

(D)

22
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66.

67.

68.

Which of the following statements
is true in case of NBFCs ?

(A) NBFCs supplement the
activities of banks in deposit
mobilisation and lending by
providing more options to
savers and investors

NBFCs only provide merchant
banking and stock broking
NBFCs are not involved in
retail banking

NBFCs are involved in portfolio
management and venture
capital financing only

Which of the following statements
is true in case of regulation of
financial system in India ?

(A) Reserve Bank of India
regulates banking sector and
stock exchanges in India
SEBI regulates stock exchanges
and mutual funds in India
IRDA regulates insurance
sector and mutual funds in
India

RBI regulates the entire
financial system in India
Which of the following is the result
of Financial Sector reforms ?

(A) Inflow of funds from other
countries due to globalisation
Investment erosion due to
complex economic activities
Making the financial system
more complicated as compared
to earlier

Increase in risk of financial
transactions

(B)
©

D)

(B)

(9

D)

(B)

©

D)

66.

67.

68.

JUN - 50225/II—A

WAUeh! hI0G faem 9 e ?
(A) TR stferTei foxita gxen AfeeRIeT
gl deAaa oo fafay o
W= TF YT HEA _did S
TN AR ST SR
Ifeeh T 3T hEed <
TR srferentie fo T o ARy
afaﬁwa@@mmw@am@m
SYcdee] hd qdld
R Aoy faa Twem=n fateis
ARGeRIoT HEld T THd
R erfenoia faageen o 9y
aead A0 TG YR HaEATI
HI TEYF g
gaa fom Searen framare dedid
EAteiieh!l shIod a8 9o e ?
(A) 9 frged d sifeamromn 9
RENRE a9 &
(B) Tellgam YSRESI o1 qReaRfedt
(Mutual fund) = == S
STd
(C) wrdra fagar faama grfasto
(IRDA) faur & grzgifaef
(Mutual fund) 3= 999 @
(D) 9Rd e o & Tut fam weem
IBECERCTG|

(B)

©)

(D)

fodia &ediel gURm=n & hed

IO &I e Seln ?

(A) SrfaskTsiom: fafae e
= yeme[ oe

(B) wifet foxfta = enférer wrfeheures
AR & ST

(C) gat sAfeqcara srgom=an fo=ia
gunciraen afeeh Sifed gomefi=
fafd

(D) fo<ita HeRNIde SeHHe o1

23
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69.

70.

71.

Which of the following statements
is correct in case of digitisation of
banking services ?

(A) Internet banking has improved
speed, accuracy and flexibility
of transactions

(B) Mobile banking is a form of

internet banking

(C) Unified payment interface is

more complex system

(D) Internet banking is app based,

unregulated banking facility

Which of the following is known as

additional benefit that is offered with

base policy at nominal price ?

(A) Rider

(B) Reimbursement

(C) Reinsurance

(D) Money back

Which of the following levels of

market segmentation typically

entails marketing to a small market
whose needs are not well served ?

(A) Segment marketing

(B) Niche marketing

(C) Local marketing

(D) Individual marketing

69.

70.

71.

JUN - 50225/T1—A
EcATcIdeh! hIvd faeam T g ?

(A) e dfehes fafae et T,

SRl ST Faferehd] I1d 1@ et

(B) HEZd SR 81 S SifshTard Uesh
AT 3T

(C) THIFHA THeH F501 & A e
U 37TR

(D) 32 dfeh & 3fuer smefia o
forrofafed giaen o
feram HAYd HeameR saes fhiehles

sifafte Pook == fodd S sAfdfe
Y U

(A) Afafa Gxem™ (Rider)
(B) TdHhs
(C) AT

(D) ek TXATE

ATRUS TR0 ShIvt Tl Teht
fafyre 9 hfgd deM ISRYSN TS

IrARR g I ?
(A) TEtHa foaue

(B) TTH& higd STSIRUS

(C) Tt fauom

(D) Hfeaa faqomE
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72.

73.

74.

Match the pair :
List I
(@) Introduction
(b) Growth
(¢c) Maturity
(d) Decline
List II
() Redefining target markets

(@ii) Reduce the number
distributions outlets

of

(zii) Improving product quality
(v) Establish a clear brand identity
Codes :

(@ G © (@
A @ @ @) @
B) Gv) @) @ @)
€ @  Gv) G G
D) G @) @ Gv)

Which objective of pricing relates to
increase market share among the
following ?

(A) Profit related objective

(B) Sales related objective

(C) Customer related objective
(D) Competition related objective
In relation to factors affecting
promotion mix decisions which one
is not consistent ?

(A) Political stability

(B) Type of product

(C) Size of market

(D) Stage of product life cycle

72.

73.

74.

JUN - 50225/II—A

SIERIESICIE
e-1
(@) UR=E/IRS
(b) fam
(c) uRudan
(d) =™
Te-11
() AN higd TSRYSH GATRYTEN
(i) Taaromem S g9 wH )
({ii) SCARATA T IS0
(fv) I fowgrEt wwe 9 ffy=d

T geenfua o
Hehdich :
@ b © @@
(A) Gv) @) @) @
B) @) Gu) @)  G)
< @ () (@) ()
D) @) @ @ (o)
FSTRYSKIT TEET ARAUAHS! SIS

F fRadifauaes i Fafa o ?
(A) @oRh Fafya sfes
(B) fowammtt wefua sfee
(C) TTehEl Hefea sfee
(D) Tt gafya 3few
EERRICFAREC LR BRItk C i G e |

SEehiUeh! WITGicTdeh! hIUIAT Beeh &
ARt ?

(A) TSThia et

(B) 3T ThX

(C) =TSIRUSHN 3R

(D) 3EH SToashrel 3Toel

25
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75.

76.

77.

78.

Which one among the following is

not a valid type of label ?

(A) Brand label

(B) Grade label

(C) Descriptive label

(D) Entertaining label

A consumer who holds the most

favourable attitude towards the

brand is called :

(A) Positive

(B) Enthusiastic

(C) Indifferent

(D) Hostile

Customer satisfaction can be defined

by comparing :

(A) Predicted service and perceived
service

(B) Predicted service and desired
service

(C) Desired service and perceived
service

(D) Adequate service and perceived
service

Which among the

statements is incorrect ?

(A) Cyber marketing and online

following

marketing are same
(B) Online marketing is one of the
options of direct marketing
(C) Online marketing is applicable
to services only
(D) Online marketing offers high
convenience, reliability and

speed

75.

76.

77.

78.
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TR hIvTdT HagATeT ek Jeh
& ?

(A) fa=iferd awd

(B) fvitghd awed

(C) foarumeaes %A

(D) HARSHIHS It

fageR IRt (Brand) 1™ $TIsd
it Sau=a1 Urgehtell 318 FUA
(A) HaacHh

(B) 3T

(C) dex¥

(D) farEt

TICATCTRT IV S HZhTE Gl Hd]

Uesh GHIEMTE] ed] Hidl Id ?
(A) sRISa Ha ST St e
(B) 3farfor Fen enfor sfesd den
(C) sfesx sfor Sorercrelt de

(D) T e A0 SAT0Eciet e
WAt hivd faum 9 e ?

(A) FreR faquE & st fouue
THTAM SR

(B) e foavM = yeder favommdret
TH T e

(C) AT faquE € hdes Tan arsmstt
Hefed 3T

(D) STETEA [a9uMHT= AL Soe,
gfawar a favamadar < e
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79. Which of the following is not | 79. Wreiiciush! vl faquHmT TR (92)
considered as types of direct g faquA gAfose 29 A ?

marketing ? (A) Jeex e faque
(A) Web marke.tlng (B) >formraf
(B) Telemarketing
(C) Email Direct marketing (C) E-Hemert e (%) weret foro
(D) Direct mail marketing (D) wF8 (92) g faque

80. A supply chain which includes the | 80. TR &% d dar= faaro dAA=A
distribution of finished products and WTATTUeh! ShIv ek GO Bard 2
services ? (A) (dTEaveTer) sifeia were o faawo
(A) Outbound logistics (B) Adiid 1Yl STaiyamel Weru o
(B) Inbound logistics faawm
(C) Supply of goods (C) I&= qXEal
(D) Transportation (D) <TEqeh

81. Misrepresentation is defined in ...... 81. YA IR FFST 1872 =AT a@-:[{:rr{
under the Indian Contract Act, 1872. T HYATET RS I hadrad
(A) Section 16 (@Aﬁiaiq{]%q 36
(B) Sect?on 17 B) FEH17
(C) Section 18 (C) FTH-18
(D) Section 13 (D) FH-13

82. Goods as defined under Indian Sale | 82. YR T faent SHTET 1930 A=< T
of Goods Act 1930 do not include : 1 T T TAdeh! hIoTel Tl FHTee
(A) Shares and stock B @ ? 5
(B) Growing crops (A) ¥R o wF

. : (B) 39 b=

(C) Actionable claims (C) &t R T@
(D) Grass (D) TEd

83. Goods identified and agreed upon at | 83. <A@ faial IR Hall @l AT
the time when a contract of sale is =1 FEgare e 9 SREemedEt JHdt
made is termed as ............ A & TJR?EH """""""""" 3T T
(A) Future goods (A) HAfTTRTed a%]
(B) Specific goods (B) fafsme =&q
(C) Moveable goods (C) I a&]
(D) Immovable goods (D) 3Tl 9%

27
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84.

85.

86.

87.

When one endorser after he has

negotiated an instrument again

becomes its holder before maturity

the instrument is said to be ..........

(A) Forged

(B) Partial endorsement

(C) Sans recours endorsement

(D) Negotiated back

As per sec. 2(6) of Companies Act,

2013, a Company in which other

Company has significant influence

but which is not a Subsidiary

Company is ........c........

(A) Dormant Company

(B) Holding Company

(C) Associate Company

(D) Unlimited Company

Eight digit numeric number allotted

by Central Government to each

designated partner of Limited

liability partnership is :

(A) Designated Partner
identification number

(B) Director Partner identification

number

©)

(D)

Director identification number
Depository Partner
identification number

Competition Commission of India
consists of which among the below
appointed by central government ?
(A) Chairperson and six members
(B) Chairperson and four members
(C) Director and six members

(D) Director and four members
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EE TI@ET el EieT sheral
qﬁ'qaaﬁﬁ Y U el

deal & faerarer 3T TRUrAra.

(A) sEEET

(B) ¥Td: geaifehd

(C) <TfaeRfed oA

(D) gAvE: geaifehd
FHUA HFGT 2013 = Hed 2(6) TR

ST A AT R AT JHE
TN S e

(A) g« HTA

(B) ¥R At

(C) w&arft &t

(D) sTwifed ut

T YFTERT SEHRMES &, YMEAN
T fafire arfieRien Y8 shelen 3138

RS HHRE
(A) fifyea ariier slie@ wHh
(B) TeTeleh WFMER 3Tes™ ShHish

(C) TS 3Mes HHIH

(D) SER/9RTER ST

TRA TULT STFEX. HKIMHATGR
TeAeden! RIVTE FHUER Shefl a2
(A) 1Ay MUl Hel He=

(B) F1emgl U] =R HS&A

(C) HaTeeh ST Wl wesd

(D) HaTee ST IR 9e&
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88.

89.

90.

91.

92.

The Information Technology Act was

introduced on account of the

initiatives of ................. .

(A) LT. Industry in India

(B) Indian Parliament

(C) Reserve Bank of India

(D) National Informatic Centre

Which section of Right to

Information Act, 2005 deals with

constitution of State Information

Commission ?

(A) 15

(B) 12

) 21

D) 22

The period of registration of a

Trademark is ................. .

(A) 10 years

(B) 12 years

(C) 15 years

(D) 20 years

Which of the following income of the

previous year is not taxable

immediately following Assessment

Year ?

(A) Income From Pension

(B) Shipping Business of Non-
Residents

(C) Interest on Fixed Deposits

(D) Income From Dividend

is passed every year by

the parliament in the form of

popularly known as “Budget”.

(A) Income Tax Act

(B) Goods & Service Tax Act

(C) Contract Act

(D) Finance Bill
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ATfedt TAAM AT WEATdehT hIoTe

T e STEEd el ?

(A) VRGNS HAifedt el 3eanT

(B) YRdE HEg

(C) for o« sitw sfean

(D) T wifedt A &

oifedi=n Ifrsh 2005 =AT iU

T T Hifgd! SR et shell

T ?

(A) 15

(B) 12

) 21

(D) 22

s fe=gr=a1  (Trademark)

TSR0 fohAT hretast Tl

(A) 10 =

(B) 12 a&

(C) 15 ¥

(D) 20 =

qrfter fomt Io= ShiIv Scq=1 = IR

A= T R Iid ARTOTETS! e

YAl S| AR ?

(A) QAT SATaRE 9T S

(B) tfqardt wIgrears Aw1aaA
MR I Scd

(C) T<a Sdlakia =TS

(D) TARMIRHA T 3ca—

HATH=I0 STETeYsIsh a1 Arem qikied

STHUT=AT 1T T TRIUaSTeT SRas

TEER UIRA el S 2

(A) 3R AfafTEH ST

(B) 9K 9 WL HIECI

(C) YR IR hIACT

(D) fo=i= fagzes
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93.

94.

95.

96.

Any person who does not have PAN
and who enters into any financial
transaction, he shall make a
declaration in Form No. ............
giving therein the particulars of such
transactions.

(A) 10

(B) 49A

(C) 60

(D) 85

As per Income Tax Act provision of
Sec. 28 is applicable to the following
heads of income .................. .

(A)
(B)

Income from house property
Income from business or
profession

©)
(D) Income from other sources
Which of the following asset is
included as per the section 2(14) of
the Income Tax Act ?

(A) Current Asset
(B) Capital Asset

(C) Liquid Asset

(D) Short Term Asset

As per old regime of Income Tax Act,
Deduction in respect of interest on
deposits in Savings bank accounts

Capital gain

93.
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gl TEE et U9 HmHe (PAN
Number) FHaH foxig @8R SHdM
aren fafay foxita seer=T miedr faero

9 HIUN SIS YIS HR

STl

(A) 10

(B) 49A

(C) 60

(D) 85

ST ShTICATAT hetH 28 ST Icq1Td
Tefieden! IV Tseh HIAH T8 2
(A) =ORE HemR 3=

(B) =HorE™ o UM fHesR 3cq=
(C) wreaeft TH

(D) TR FAuRH HeuR 3=
TIFHT FIGT HeAd 2(14) T ATt
TUHE WTeeAdesh! hIoedl Hoa=
@Y B ?

(A) = FUwit

(B) wWredeft HUwit

(C) T gl

(D) STTURICHT HUwI

TR JUNCATST =T HISANTH THATHR
TR hEATAT hedldH 80TTA =1
Fd F9d WAl SFreEiid i

(Sec. 80 TTA) is deductible upto ...... Hoerdi=t Hedq "Ier e
(A) ¥ 20,000 (A) 20,000 =.
(B) % 10,000 (B) 10,000 =.
(C) T 50,000 (C) 50,000 =.
(D) T 30,000 (D) 30,000 =.
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97.

98.

99.

100.

The objective of Transfer pricing is
to ensure which of the following ?
(A) Taxes are paid in country of

Residence

(B) Taxes are paid in country of
source

(C) Taxes are paid in the

jurisdiction where economic

activity takes place
(D) Taxes are not paid
Provision of sec. is
applicable to transfer of capital
Assets to Amalgamated Indian
Company as per Income Tax Act.
(A) 47(vi)
(B) 40(v)
(C) 42(iii)
(D) 50()
Under section faceless
Assessment services provided by
CBDT, in which assessment
proceeding conducted electronically
in “e-proceeding” facility through
assesses registered account in the
designed portal.
(A) Ul/s. 140 A
(B) U/s. 144 B
(C) U/s 143 (3)
(D) U/s 140
Where the assessee is a person other
than a company required to be
audited under any law the due date
of Submission of Income tax return
1S tevrrrreeeeee .
(A) July 31st
(B) June 30th
(C) August 31st
(D) October 31st
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100.
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WTATTIehT ShIv a0l fenaat fafeea=
3fese o’ ?

(A) =1 <ymd fHear@ e™@e w <A
HENE shel S

(B) = MGA 3= U St S
1 QIMA h@NET hel A

(C) == T wEaE oo fwen
el A, 1 S9N hENEA Sl
ST

(D) X UG EYARAT ATl

SR, HIICATAT T Uehlghd hUT=

TeYld redell U=l S&Iqeo=a

j\:ia‘i:l'h 0|';\|U|('1| q')qul 0h('11-| ...............

?d ?

(A) 47(vi)

(B) 40(v)

(C) 42(ii)

(D) 50()

forTSuUfkerdt &Y STHRRUNHS hgrATel

HSE T H Sre W E-wifEe

FRiaE! o qEHgiia Sedaeed

TSfiehd TRET TORTETS! TefeTisht shIvre]

Sl AR HET A 2

(A) hetH 140 A

(B) ooctH 144 B

(C) =heH 143 (3)

(D) e 140

HUA AR, IR HIVR FRECATTS

I 3T Feaorsy

e hI0 AETAE  3TTE.

(A) 31st i

(B) 30th SH

(C) 31st A=

(D) 31st AR
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